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SH: EAD
HE: CANL(FELTGHL/NALTAI)

et CAIHE S (B9 ®R)
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Husz
SAD 29,544,762 26,969,646 2,575,116
Py 7,403,000 7,403,000 0
s 500,000 500,000 0
= 1,635,000 1,065,000 570,000
Al 20,006, 762 18,001,646 2,005,116
SANE(RELT AL /T ALEAI) 22,180,490 19,638,791 2,541,699
Xl 3,411,000 3,411,000 0
s 500,000 500,000 0
< 1,635,000 1,065,000 570,000
Al 16,634,490 14,662,791 1,971,699
SAE 2 808,480 816, 180 A7,700
SAE 2 646,840 654,540 AT,700
201 et A H| 37,840 45,540 AT,700
01 AL 22l 27,840 35,540 AT,700
OZAHEANE L TAAEZSIAS 9,140 16,840 AT,700
— 2988 2YLTOIZE)(HAEY)
23 3,920,0009 3,920 4,900 £980
~ H22 MRS 2YLYOI2E)(2BY A
2) 233 0¥ 0 2,940 A2,940
— HAOH (2B (2B M)
33 0¥ 0 3,780 A3,780
ENBIETESE 13,071,324 10,488,984 2,582,340
Xl 874,000 874,000 0
s 500,000 500,000 0
= 870,000 300,000 570,000
Al 10,827,324 8,814,984 2,012,340
SANEE RN 6,445,000 4,945,000 1,500,000
401 AIEHI L 20 6,445,000 4,945,000 1,500,000
01 Al 6,403,861 4,913,761 1,490,100
OSMD ¢ CANC2(UR385)8  Z&
= 5,000,008 * 200m * 99.37/100 993,700 0 993,700
OBtYES 5S(BXB) T2HETA
5,000,008 * 100m * 99.28/100 496,400 0 496,400
03 A& S THHI 41,139 31,239 9,900
OSMD ¢ CAHNHC2(HR3-85)8  IX
=\ 5,000,0008 * 200m * 0.63/100 6,300 0 6,300
OBt YES 5S(BRB) T2HEIA
5,000,0008 * 100m * 0.72/100 3,600 0 3,600
SANEREY S22 1,451,000 1,476,000 £25,000
401 NEHIL 2 THYI 1,445,000 1,470,000 £25,000
01 Al Hl 1,434,794 1,459,794 225,000
ONEIS FURNAME FULSED 2 LA
(2Eo a) 33 0¥ 0 25,000 £25,000
SAZREY 22,320 24,800 £2,480
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el SAIDIEHE A (et
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hus2
201 Lyt | 2,880 3,200 A320
01 AL 22l bl 2,880 3,200 £320
ORIV BB +Y 2,880 3,200 £320
— SO EMLT(MAEY) FF 1,920,0008 1,920 2,240 £320
202 01t 19,440 21,600 ~2,160
NIERCEL 19,440 21,600 £2,160
OSAALE FQANE A2 FF(HUE)
AF 19,440,0009 19,440 21,600 £2,160
SAZZALS 2 21,004 251,184 230,180
201 2Ler2 A H| 38,580 38,760 A180
01 ALR22lH] 1,620 1,800 A 180
O+ZNE(YFES 2404, 2st9AH2l2
BB (MM 23 620,002 620 800 A180
401 NEHIL 2 THYI 172,485 202,485 £30,000
01 Al Hl 172,485 202,485 30,000
O3t H2l(572) LYSHZ & IJA(E
Sof A 233 0¥ 0 30,000 30,000
(S)EAES AL 540,000 400,000 1,140,000
= 770,000 200,000 570,000
Al 770,000 200,000 570,000
401 AIEHI L 2T bl 1,540,000 400,000 1,140,000
< 770,000 200,000 570,000
Al 770,000 200,000 570,000
01 Al bl 1,528,912 397,120 131,792
OS2l BIIE8D ¥ (A22-32) WAL
2,500,0008 * 200m * 99.28/ 496,400 496,400
= 250,000 0 250,000
Al 246,400 0 246,400
OS®el ESNYZ(S23-1)NEAMY-0122
2,000,0008 * 200n * 99.28/100 397,120 397,120
= 200,000 0 200,000
Al 197,120 0 197, 120
OunEel HAEY o2 S2IHEAM
240,000,008 * 141 + 99.28/ 238,272 0 238,272
= 120,000 0 120,000
Al 118,272 0 118,272
3 A& R ThHI 1,088 2,880 8,208
OSRe2l EIESD ¥ (222-32) WAL
2,500,0008 * 200n * 0.72/ 3,600 0 3,600
OSR2l ESFYR(ER3-1)H&AY-0122)
2,000,0008 * 200m * 0.72/100 2,880 0 2,880
OunEel HﬂﬁE"a' o2 S2IHE A
240,000,000%! * 144 * 0.72/10 1,728 0 728
CIxtol 22l 2,814,137 2,846,898 £32,761
= 691,000 691,000 0
— 2 —
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SH: EAD
HE: CANL(FELTGHL/NALTAI)

CHol G AITH A (B9 ®R)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
= AITH 51,620 51,800 A180
203 ¥R = bl 1,620 1,800 A180
03 AlB =X 2 E Y| 1,620 1,800 A 180
OUFANY 22 S Y2FT(HAEY)
23 1,620,0009 1,620 1,800 A180
2DE ZA(REYNENL/UALTAI) 61,460 64,060 A2,600
sozne Myl 61,460 64,060 £2,600
zoe Hy| 61,460 64,060 A2,600
201 ot | 6,800 9,300 A2,500
01 AL 22l bl 6,800 9,300 A2,500
OBIS HEH AEIH ME(HAEZ)
2% 300,0008 300 2,800 A2,500
301 LB A 13,510 3,610 A100
ETC T EYE 710 810 A100
OF ZDSH A (HAMEY)
2 710,0008 710 810 A100
SHUUY(ZELXAML/NALETAI) 67,608 98,743 A31,135
2y 2l 67,608 98,743 A31,135
ezzg e 67,608 98,743 A31,135
101 1218l 415 1,243 £828
04JIAH22RNSES 415 1,243 828
OANE S22 ALY (WBTH A2)
AH 414,0802 415 1,243 £828
201 L2yl 45,693 63,000 A17,307
01 Ak 2tel bl 6,093 8,400 ~2,307
ORHZ UM 222 (HMEY)
2 2,492,5008 2,493 4,800 ~2,307
02 2zl 39,600 54,600 A15,000
ORHZ MIRSB(RBIH &)
A 39,000,0009 39,000 54,000 A15,000
401 AIEHIL 2 THHI 21,500 34,500 £13,000
01 Al& I 21,500 34,500 A13,000
OSHEZ +Z2EH LH (&Y 0H) (28 A
2 33 02 0 10,000 £10,000
O£+BIT TH % +2/(30HS)(SEH 42)
33 02 0 3,000 £3,000
2ICHE BN SHEI B RE(SYHS LM /5 - 5E) 6,623,000 6,623,000 0
Py 3,992,000 3,992,000 0
Al 2,631,000 2,631,000 0
DiehE SOZE0tS MoHE 6,623,000 6,623,000 0
Py 3,992,000 3,992,000 0




2N S Al
H: 2ICHAMEENsHEI B PSS (sHHS /=5 - &)
S DIcHE sOHENS THHE (&)
SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
Al 2,631,000 2,631,000 0
(S)ANZZ20t0ICI AL (HI 2 01)-X1 & S 282t 5t 708,000 708,000 0
X 496,000 496,000 0
Al 212,000 212,000 0
307 glz2tol & 280,000 0 280,000
X 196,000 0 196,000
Al 84,000 0 84,000
02 HHFHANGEEX 280,000 0 280,000
O=stegs32 ML (USZFE « "AlEdl”
olA) 280,000,000& * 14 280,000 0 280,000
Xl 196,000 0 196,000
Al 84,000 0 84,000
401 Al HIZ 201 I 428,000 708,000 280,000
Xl 300,000 496,000 196,000
Al 128,000 212,000 A 84,000
01 A& HI 424,918 703,540 N 278,622
O=stegs32 ZgMg(U=s3E @ ety
MHEZ"Z) 2 & 424,918,000 424,918 703,540 N 278,622
Xl 300,000 496,000 A 196,000
Al 124,918 207,540 A B2,622
03 AIE SR THHI 3,082 4,460 N 1,378
O=stegs32 ZgMg(1=s3E @ g2y
MHEZ"Z) 2 & 3,082,000& 3,082 4,460 N 1,378
(B)sESUXNELES(EEXN2)(BINS)-NGdz2 720,000 720,000 0
st
Xl 504,000 504,000 0
Al 216,000 216,000 0
201 LEt2E | 10,848 7,648 3,200
01 At 2teltl 10,848 7,648 3,200
OSZAHEI PIEE 22 (UASZF:"AILH]"
oA 2 & 200,000& = 8H * 63l 9,600 6,400 3,200
401 AIEHI L 20 709,152 712,352 A 3,200
Xl 504,000 504,000 0
Al 205,152 208,352 A 3,200
01 A€ HI 704,684 707,865 A 3,181
O2BJIg =sE34X 2435 A (=225
MNRZ2HI"Z) Z & 704,684,000 704,684 707,865 A 3,181
Xl 504,000 504,000 0
Al 200,684 203,865 A 3,181
03 Al2 S THHI 4,468 4,487 A19
O2J1g =sE38X 8435 A (H=28F:"
MNRZLH"Z) 2 & 4,468,000& 4,468 4,487 A19
HY2AZYI (S AL (JIEHDIIE 162,437 150,496 11,941
el 2l 53,366 29,906 23,460
ol 2| 53,366 29,906 23,460




2N S Al
M HHE2H AU (ZAID)(IIEH/IIE)
e BB EX CERED
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-E" Hl D2
101 14 Hl 52,381 29,906 22,475
02 JIEt& 2 == 21,475 0 21,475
OAMLHERHAINH SLE E(MPAY B3
O ArerZel Mol A ) 21,475 0 21,475
—Jles 1,855,780 » 198 » 9F 16,703 0 16,703
—JtE+=E 1,080 0 1,080
- <Xt 40,0008 = 1€ « 93 360 0 360
SPNIE 20,0003 = 2% = 9& 360 0 360
SPNTE W F= 40,0008 = 1H « 93 360 0 360
—N2g2RsY
, 980 * 20A12F » 1H » 9 1,617 0 1,617
— W Z A 130,000& = 1& = 93 1,170 0 1,170
— SItE &HHl
1,855,780 * 86% * 1/30 » 1H = 17 905 0 905
03 I AHA2ZZ2HE > 30,906 29,906 1,000
ozdz2eld 30,906 29,906 1,000
k== 2 & 15,848,000& 15,848 14,848 1,000
204 MR FH| 985 0 985
02 a2 =4l 985 0 985
OAMNZHHEHLIM =S EXRHI(MPAY HE
"CIXFQI 22l "ol A ) 109,375 + 1Y » 9F 985 0 985
Jl=&dl 109,071 120,590 A 11,519
JlE2&l 109,071 120,590 A 11,519
201 Lt 22,401 24,890 N2,489
01 At 22l 22,401 24,890 A2,489
OSAMEX L (oazEZ2) AJAH 2,011,000 2,01 4,500 A2,489
202 044l 74,520 82,800 A 8,280
01 S LHOIYI 74,520 82,800 A 8,280
OZAI g2 =& ot (0laE2) 74,520 82,800 A 8,280
— 2O HI Z & 51,840,000 51,840 57,600 A5,760
— 220yl 2 & 22,680,000& 22,680 25,200 A2,520
203 @R =&l 6,750 7,500 AT50
01 JI22E =4 2,970 3,300 A 330
OZANHEIE J22HELFIHI(0LEZ)
28 2,970,000& 2,970 3,300 A 330
04 FNSELRZ=TH 3,780 4,200 A 420
ORMSIIFIHI(0AEZ)
2 & 3,780,000& 3,780 4,200 A 420
HRES(SAL)(ZELXNGMNL/NILTA 353,211 298,000 55,211
SHEXNE 55,211 0 55,211
EXdRNE 55,211 0 55,211
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